[bookmark: _GoBack][image: ]Mathematics Knowledge Organiser         Year 8 HT3
	Brackets & equations
	Sequences
	Indices

	[image: ]
	[image: ]
	[image: ]

	[image: ]
	[image: ]
	[image: ]

	[image: ]
	[image: ]
	[image: ]



image5.png
Foctorse nto a single bracket 8+ 4 |I Soke equations with brackels 3(3x+4)- 30

B s [

4 Ty i ts e hihest
corren

factor
ED G 2-30 e
T w o A Sttt ot ipr ves
[ eriiring
e ST
Bed=4luxrl EREECE] —5

Ths s fctored b e
HOF fos ot been s

I
]
]
]
|
|
I 0 uobes mutplogeer o e vl ot et
]
]
]
|

-





image6.tmp
| Linear and Non Linear Sequences
| Lnear Sequerces — rerease by elon or sttt and he same amout ecch tme

| Non-near Sequerces — co ot ncredse. by  corstont amount. — i, ggomelr

| ond Fborecc:

« Donol pot as st ies when moceled gaphealy

« The dfferences beleen teams con be found by adlen, subsaction, molpcaten or
dision

Flondeci Sequence— ook ot or this tupe of sequerce.

01 12358,
N

Each tem s the sum of the previous two terms

} Sequences from alaebraic s Tos s sistiior

| 3+7 3t 7
| /' -
| This wil be. inear - rote the singe. Ths & not inear s there s o
I power of n The vales neresse al a power for n
| constant rate
bsttute the rumber of the tesm o are locking for
Jn - 5 n ploce of "

I

o

| Flem-2(0-5--3

| Arttem=20)-5--|

| 100" tem = 2 (100) -5 = 15
I
I
I

Checking for a term in g sequence fom m equion
Is 201 the sequence 3n — 47
o~ 3n—4-201

e
Oeptroe ol ths v i the postion of the term i the seqence. |

| a Temilocheck
I
L ONLY an nteger solon can be in the sequence. |

U





image7.tmp
I Oddition/ Subtraction laws for indices
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The equation 9x =27 has an answer of x = 3.
Write down five different equations with an answer of x = 3.
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Here are the first five terms of a number sequence 18, 30,42, 54, 66, ...

(a) Write down the next term of the number sequence
883 is not a term in this number sequence.

(b) Explain why.
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Question 1:  Write as a single power of m.

(@) m?xm® (b) m*xm® (c) m®xm? (d) m”xm?
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Reuwords

Simpify: grouping and combining simiar terms

Substitute: replace. a variable with a numerical vale.

Equivalent: something of equal vabe

Coefficient: a number used to muttiply a variable

Product: muttiply terms

Highest Common Factor (HCF): the biggest factor (or number that: mutiples to give a term)
Inequality: an nequalty compares who vales showing if ore is greater tharn, less than or
equal to another
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Heywords

Sequence: tems or numbers put in a pre-decided order

Term: a single. number o variable

Postion: the place something s located

Linear: the difference between terms increases or decreases (+ or -) by a constant valve each time
Non-inear: the difference between terms increases or decreases in different amounts, or by x or +
Difference: the. gap between two terms

Orithmetic: a sequence where the dfference between the terms is constant

Geometric: a sequence where each term s found by muttipyng the. previous one by a fixed non zero
number
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Heywords

Base: The number that gets multipied by a power

Power: The exponent — or the number that tels you how many times to use the number in muttipleation
Exponent: The power — or the number that telks you how many times to use the number in muttipleation
Indices: The. power or the exponent

Coefficient: The number used to muftiply a variabe

Simpify: To reduce a power to its lowest term

Product: Miltiply




